‘ ' ’ Power nesds control SOLID GSX Enclosure system
[CPX-1.5M \
for MODULAR DIN-RAIL DEVICES
(ostony modutowe)
mf’“"“"g ‘"T"“C“O”S CP1-1.5M 001101458 CP3-1.5M 001101460
ontage anleitung = = )
D  Navodilo za montazo \ \
Instrukcje montazu
@R Upute za montazu
MontaZni n
€ Montaznindvod CP215M 001101459
(K Navod na montaz . :
HY  Szerelesi utmutato Q [
@  Montavimo instrukcija
VIHCTPYKUMA 33 MOHTaX Screwdriver flat-blade e
(@)  Montazas instrukcija (Wkretak ptaski)
@D  Paigaldusjuhend
Position 1 Position 2 Position 3
ki\zl,s mm - 56,5 mm i WP-A kfexi mm - 96,5 mm / WP-A [WP_U 15
O THS 0o @] OV TH-S
o o0 o S h=48,5
o basic o o basic oo
O podstawowy oo O podstawowy @)
T o| Closed T b 5| Closed T o|o| Closed
9 ol 9 :i 9 ﬁ - |O| 9 i —-=|0| |9 i
° 90° ° E ° 90° °l° 90°
8 ? 8 Open 8 °: ? 8 Open 9 R 8 Open
7 0| 7 7 @rooo —~|0] 7 :(] ol |7
o \ o be—|o|e
g ¢ Q| g 8 G =101 6 £ Q®
g ° 9 ® o ° ° Sl° 9 1ol 8
A 4 ol 4 o 4 oo Ol 4 o o | 4
3 Ol 8 3 oo O] 3 O |8
° Open o © ° Open °l° Open
2 2 90° 2ol 92 90° o Ol ?
11 o) 1 1 LAl Q1 =— L R AN ol ] 1 =—
Closed
B17.09 | 981000488 1/2
‘ ' ’ Power nesds control SOLID GSX Enclosure system
[CPX-1.5M
for MODULAR DIN-RAIL DEVICES
(ostony modutowe)
Mounting Insiructions CP1-15M 001101458 CP3-15M 001101460
ontage anleitung 3 o g
(D Navodilo za montazo \ \
Instrukcje montazu
@B Upute za montazu
MontaZni n
€ Montaznindvod CP215M 001101459
(@K Navod na montaz . :
HY  Szerelesi utmutato Q [
@  Montavimo instrukcija
VIHCTPYKUMA 33 MOHTaX Screwdriver flat-blade B
(@)  Montazas instrukcija (Wkretak ptaski)
@D  Paigaldusjuhend
Position 1 Position 2 Position 3
ki\zl,s mm - 56,5 mm i WP-A kfexi mm - 96,5 mm / WP-A [WP_U 15
oo O THS oo @) o] THS
00 o 0o o 3 h=48,5
o o basic o o basic oo
O podstawowy oo O podstawowy O
T o Closed = T o o Closed T o|o| Closed
9 0|9 =[5 9 -~ O 9 =~ -0 |9 =~
. : oo T oo =
8 | |e o8 O 8 ool Ols Onen o| |8
7 | 0| 7 7 @rooo —~|0] 7 :(] ol |7
3 o o be—/|o|e
g 6 | ol 6 e 6 @oo —=|O[ 6 € ol |6
£ 4 £ 0 S £ 5 lo
9 5 Ol 5 9 5 oo Ol 5 0 Q| |5
o 4 oo ol 4 o 4 oo Ol 4 o ol | 4
3 oo (O]} 3 oo O] 3 Ol |3
o °© ° Open o °© ° Open °l° Open
o DI 2 90° 2ol 02 90° 2.2 90°
1 1 AllY 1®) 1 1 IAllY O 1 =— o~ Ol ] 1 =—
Closed Closed
B17.09 | 981000488 1/2




" ’ SOLID GSX Enclosure system
Power needs control
[CPX-1.5M \
WP-A WP-A WP-U
No. | Type ETI Name Pcs. No. | Type ETI Name Pcs. No. [ TypeETI | Name [Pcs.
1 [LG-v Support 2 1 [LG-V5 Support 2 1 |AST 4.8x9.5 |Tapping screw | 2
2 |AST 4.8x9.5 |Tapping screw 4 2 |AST 4.8x9.5 |Tapping screw 4
3 |AW-RE 5 Washer M5 DIN9021 Zn 2 3 |AW-RE5 Washer M5 DIN9021 Zn 2
4 |AS-C 5x10 Screw M5x10 DIN7985 Zn 2 4 |AS-C 5x10 Screw M5x10 DIN7985 Zn 2
Position 1 Position 2 Position 3
i - &
. 0 P pel P z / WP-A N / WP-U
N
0 N
% ’ 0 N 0? o N
N 0
0 ©
% i © '\Z 0 N °
| N &
0 © (Y Q
% ol N 1’ 2 : . 4
N o P
N 0? %< Q
N N @ © @i
° ©
% 7, N B 0 ® © \®
s o 0
N o? °l pe \@ %
—2 ) L2 N
Screwdriver PH2
(Wkretak PH2)
B17.09 |981000488 2/2
" ’ SOLID GSX Enclosure system
Power needs control
[CPX-1.5M \
WP-A WP-A WP-U
No. | Type ETI Name Pcs. No. | Type ETI Name Pcs. No. [ TypeETI | Name [Pcs.
1 [LG-v Support 2 1 [LG-V5 Support 2 1 |AST 4.8x9.5 |Tapping screw | 2
2 |AST 4.8x9.5 |Tapping screw 4 2 |AST 4.8x9.5 |Tapping screw 4
3 |AW-RE 5 Washer M5 DIN9021 Zn 2 3 |AW-RE5 Washer M5 DIN9021 Zn 2
4 |AS-C5x10 Screw M5x10 DIN7985 Zn 2 4 |AS-C 5x10 Screw M5x10 DIN7985 Zn 2
Position 1 Position 2 Position 3
] T
o0 © WP-U
) 0 /d ® /
N
0 O
% 9 0 Q N Q
Q
0 N)
NS N : °
S N Q
0
NI Q ; /
N P
Q) | |l »°lG ©
5 % % & @i
[ N ° T
|| e X N}
L_o] o o1 —
Screwdriver PH2
(Wkretak PH2)
B17.09 |981000488 2/2




